11.3 Perimeter and Area of Similar Figures

Recall: If 2 polygons are similar, then the ratio of their perimeters, or of any
2 corresponding lengths, is equal to the ratio of their corresponding side

lengths.
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[Etwo polveons are similar with the lengths ol corresponding sides in the
ratio of a: b, then the ratio of thelr arcas isa=: b~

Side length of Polvgon I 4

Side length of Polvgon 11~ b 2

Area of Polvgonl  4°

Area of Polvgon Il -

Justification: I:x. 50, p. 712 Polygon | — Polygon Ii

I Y L s ¢... a%~mg“»‘&~q P o s e, il B, Bhasny, Wi Apee \ Wrest, Baem B S ay
“v .. " ’\_ g.' ‘. .I . o. & - g. -‘ ¥ o . . . .' 5

Ex 1: In the diagram, AABC ~ ADEF. Find the indicated ratio.
(a) Ratio (red to blue) of the perimeters
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(b) Ratio (red to blue) of the areas i

N Teorwm 1.7, yatio of areds = o=
sides is &




Ex 2: You are installing the same carpet in a bedroom and a den. The floors

of the rooms are similar. The carpet for the bedroom costs $225. Carpet is
sold by the square foot. How much does it cost to carpet the den?
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Ex 3: A large rectangular baking pan is 15 inches long and 10 inches wide. A
smaller pan is similar to the large pan. The area of the smaller pan is 96
square inches. Find the width of the smaller pan.

15 in.
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* All regular polygons with the same number of sides are similar.
* All circles are also similar.

Ex 4. The floor of the gazebo show is a regular octagon. Each side of the
floor is 8 feet, and the area is about 309 square feet. You build a small model
gazebo in the shape of a regular octagon. The perimeter of the floor of the
model gazebo is 24 inches. Find the area of the floor of the model gazebo to
the nearest tenth of a square inch.
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